
ma

1

9

8 7

2

5

4

35

36

37

38

12
13
14

15

18

16

17

20
21

22
19

11

10

23

24
25
9

26

27

28

29
30
31

32

33

34

46

41

42

43

39

40

63

65

64

61 60 59 58 57

62

56

55

54

53

50

47

48
49

45

44

51

3

6

52

66

35

36

67
69

68

/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=1
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=2
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=3
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=4
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=5
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=6
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=7
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=8
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=9
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=10
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=11
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=12
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=13
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=14
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=15
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=16
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=17
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=18
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=19
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=20
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=21
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=22
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=23
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=24
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=25
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=26
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=27
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=28
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=29
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=30
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=31
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=32
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=33
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=34
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=35
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=36
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=37
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=38
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=39
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=40
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=41
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=42
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=43
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=44
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=45
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=46
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=47
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=48
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=49
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=50
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=51
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=52
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=53
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=54
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=55
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=56
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=57
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=58
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=59
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=60
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=61
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=62
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=63
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=64
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=65
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=66
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=67
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=68
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=69
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=70
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=71
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=72
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=73
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=74
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=75
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=76
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=77
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=78
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=79
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=80
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=81
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=82
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=83
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=84
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=85
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=86
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=87
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=88
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=89
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=90
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=91
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=92
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=93
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=94
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=95
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=96
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=97
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=98
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=99
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=100
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=101
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=102
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=103
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=104
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=105
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=106
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=107
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=108
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=109
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=68
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=69
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=67
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=36
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=35
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=66
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=52
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=6
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=3
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=51
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=44
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=45
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=49
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=48
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=47
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=50
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=53
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=54
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=55
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=56
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=62
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=57
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=58
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=59
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=60
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=61
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=64
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=65
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=63
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=40
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=39
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=43
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=42
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=41
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=46
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=34
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=33
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=32
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=31
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=30
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=29
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=28
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=27
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=26
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=9
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=25
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=24
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=23
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=10
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=11
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=19
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=22
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=21
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=20
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=17
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=16
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=18
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=15
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=14
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=13
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=12
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=38
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=37
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=36
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=35
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=4
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=5
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=2
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=7
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=8
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=9
/adaption.asp?znr=SIN015XN_ER0202_01_rev02&tnr=1


1 DI7981-3.5X9.5I SELF TAPPING S.S.SCREW 3,5X9,5 47 CC5005/01 PROTECTION

2 4305002000 Obere Abdeckung Cubika 48 DM0814 STEEL SPRING FOR KNOB TYMER

3 WGADY0003 BLACK PUMP SUPPORT ULKA 49 DY0033/01/A STEAM KNOB ASSEMBLY

4 DM1596 INLET FITTING 50 WGAUN5931-
4X12I

SCREWS M 4X12 ST.STEEL

5 WGAB0157/01 TRANSP.SILICONE TUBE 5X9 L=360 MM 51 4305037000 Blende CUBIKA Gaggia

6 DM1594/230240 EP5 V 230/50 PUMP 52 CC5021 BLACK RUBBER FOOT

6 DM1792/120 PUMP V 120/60 53 6305022000 SILVER WATER COLLECTION TUB

7 DM0041/088 O-RING GASKET 2025 EPDM 54 4305009000 GRILL WITH HOLES

8 WGAEF0062/01
/A

BRASS SAFETY VALVE 55 4305007000 TRANSPARENT TANK S/SCREEN MAX

9 WGAB0053 NUT 56 WGADM1017 MEASURE

10 DY0022 PUMP OUTLET PIPE 4X6X175 57 18G1514 RETAINING - FILTER SPRING

11 PA1030 TRANSP.SILICONE TUBE 5X9 L=230 MM 58 GG0041/01 POLISHED ALUM.FILTER HOLDER

12 EF0099 TEABRASS SELF-PRIMING VALVE DISC.FITTING 59 FG0223 BLACK HAND GRIP

13 EF0111 GASKET IN TEFLON 60 WGADM1319 GALV.SPECIAL SCREW M6X16

14 WGAEF0061 BLACK VITON 85SH SPHERE D=5 61 FG0224 BLACK PLUG FOR HAND GRIP

15 8305001000 BRASS FAUCET ASSY. 62 GG0044/01/A BLACK/POLISHED ALUM.FILTER HOLDER ASSY.

16 DM1168 COFFEE TEMPERATURE SWITCH 63 NF08/002 1-CUP FILTER 5.5/6.5 GRS.

17 DM1288 STEAM TEMPERATURE SWITCH 64 NF08/005 TWO CUPS FILTER 12/14 GRS.

18 UN5931-6X16Z GALV.SCREW M 6X16 65 WGA2PR/1  SEPARATOR

19 DM0041/081 O-RING 112 IN EPDM 70°SH 66 GG0138/A COMPLETE EMULSION DISK

20 DM1957 SCREW M 4X5 GALV.W/KNURLED HEAD 67 AM0010/A STEAM TUBE MONTAL.FAM.

21 GG0064 BRACKET FOR THERMOFUSE 68 8301006000 FROTHER SET

22 DM1040 FUSE 69 8305018000 STEAM TUBE FOR PANNARELLO

23 UN5931-6X20Z GALV.SCREW M 6X20 70 8305013020 """L4""V 230 WIRING"

24 GG0100/A/120 BOILER GROUP 120 VOLTS 71 8305013030 """L4""V 120 WIRING"

24 GG0100/A/2202
40

BOILER GROUP 220-240 VOLTS 72 4305024000 PACKAGING BOX CUBIKA

25 4305018000 BRASS ELBOW COUPLING 1/8"GAS 72 4305026000 UPPER INTERNAL PACKAGING

26 DM0041/082 O-RING 167 IN EPDM 70°SH 72 4305027000 LOWER INTERNAL PACKAGING

27 GG0016 COPPER PIPE 72 4305028000 MANUAL GAG CUBIKA

28 GG0013 GROUP BODY

29 GG0026/01 GROUP GASKET

30 WGADM0041/0
22

Gasket OR 2025

31 EF0047/A BREWING VALVE 5,5 BAR ASSY.

32 DM0704 SHOWER

33 DI7987-5X8I SCREW TSP M5X8 UNI 7688 DIN 965 INOX

34 GG0034/01 GLOSSED FILTER HOLDER COUPLING

35 8305003000 UPPER STEAM UPTAKE TUBE

37 B0209/01/A LOWER STEAM COLLECTION TUBE

38 8305011000 Dampfrohr kplt. chrom

39 4305008000 CUBIKA SWITCH BRACKET

40 129573402  SCREW TAPT M4X10 DIN 7985 GALV

41 5305001010 """L4"" BIPOLAR ON/OFF SWITCH"

42 5305002010 """L4"" BIPOLAR COFFEE SWITCH"

43 5305003010 """L4"" STEAM 125/250V SWITCH"

44 8305004000 SS/V 230 CHASSIS BODY CUBIKA ASSY.

45 CF0292/AUS AUSTRALIAN POWER CORD

45 CF0292/CHX SWITZERLAND POWER CORD

45 CF0292/GBX ENGLISH POWER CORD

45 CF0292/SCH SCHUKO POWER CORD

46 DM1563/001 SELF FIXING PIN V 120

46 WGADM1563 3 POLE SELF LOCKING PIN

ER0202 CUBIKA
Pos Article-Nr. Description Pos Article-Nr. Description


